Rozklad vyrazu na sou¢in — vytykani

Rozloz vyrazy na soucin pomoci vytykani:

1. 2x+4y=
2. 8a—24b=
3. 15+27r =

4. 7Tm+2In—-35k =

5. —12a+18b—-30c =

6. 4xy—6x=
7. —uv—10u =
8. 3hg-6g=

9. 15a®—-9a+18a° =

10. 6x°y? —12x°y* +24x°y°® =
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1. 2x+4y=2(x+2y)

2. 8a—24b=8(a-3b)

3. 15+27r =3(5+9r)

4. 7m+21n—35k = 7(m+3n—5k)

5. —12a+18b—30c =6(—2a+3b—5c) =—6(2a—3b +5¢)
6. 4xy—6x=2x(2y-3)

7. —uv—10u =u(—v-10) =—-u(v+10)

8. 3hg—6g=3g(h—2)

9. 15a® —9a+18a°® =3a(5a—3+6a°)

10. 6x°y? —12x3y* +24x2y® = 6x2y? (x* —2xy? + 4y)
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